

HYPERGEOMETRIC TRANSFORMATIONS OF LINEAR FORMS IN ONE LOGARITHM

CARLO VIOLA, WADIM ZUDILIN

On the 70th birthday of Władysław Narkiewicz

Abstract: We discuss hypergeometric constructions of rational approximations to values of the logarithm function.

Keywords: Rational approximation, irrationality measure, hypergeometric series, hypergeometric integral

1. Introduction

Until now, the best approximations to values of the logarithm function at some rational or algebraic points are constructed by means of hypergeometric integrals (or hypergeometric series). An essential ingredient to improve the quality of such approximations consists in an arithmetic technique based on a careful p -adic analysis of the approximants. Perhaps the simplest way to do this is to provide relations showing that the quotient of two approximations is related to a quotient of factorials, for which the p -adic study is an easy routine. Such ‘structural’ approximations gave rise to many important applications, and can usually be expressed through the action of a certain finite group on a family of integrals (or series). In this paper we discuss an interesting structure of rational approximations to logarithm values which does not allow us to obtain improvements on the known irrationality results or irrationality measures, but which leads to several remarks and questions that might be useful in further study of the arithmetic problem.

2. Hypergeometric database

We shall require the following hypergeometric identities: the Euler–Pochhammer integral [4, p. 20, (1.6.6)]

$${}_2F_1\left(\begin{matrix} A, B \\ C \end{matrix} \middle| z\right) = \frac{\Gamma(C)}{\Gamma(B)\Gamma(C-B)} \int_0^1 \frac{t^{B-1}(1-t)^{C-B-1}}{(1-zt)^A} dt, \quad (2.1)$$

provided $\operatorname{Re}C > \operatorname{Re}B > 0$; the Euler transformation [4, p. 31, (1.7.1.3)]

$${}_2F_1\left(\begin{matrix} A, B \\ C \end{matrix} \middle| z\right) = (1-z)^{-B} \cdot {}_2F_1\left(\begin{matrix} C-A, B \\ C \end{matrix} \middle| \frac{-z}{1-z}\right); \tag{2.2}$$

its iterate — the Kummer transformation

$${}_2F_1\left(\begin{matrix} A, B \\ C \end{matrix} \middle| z\right) = (1-z)^{C-A-B} \cdot {}_2F_1\left(\begin{matrix} C-B, C-A \\ C \end{matrix} \middle| z\right); \tag{2.3}$$

the Gauss quadratic transformation [1, p. 88, (2)]

$${}_2F_1\left(\begin{matrix} A, B \\ A+B+\frac{1}{2} \end{matrix} \middle| 4z(1-z)\right) = {}_2F_1\left(\begin{matrix} 2A, 2B \\ A+B+\frac{1}{2} \end{matrix} \middle| z\right), \tag{2.4}$$

and the quadratic transformation [4, p. 80, (2.5.33)]

$${}_2F_1\left(\begin{matrix} A, B \\ A+B+\frac{1}{2} \end{matrix} \middle| -\frac{z^2}{4(1-z)}\right) = (1-z)^A \cdot {}_2F_1\left(\begin{matrix} 2A, A+B \\ 2A+2B \end{matrix} \middle| z\right). \tag{2.5}$$

3. A hypergeometric series

Throughout the paper d_n stands for the least common multiple of the numbers $1, 2, \dots, n$; we also set $d_0 = 1$.

Let a, b, c be integers satisfying $b \geq 0$ and $c \geq 0$, and let λ be an algebraic number, $|\lambda| > 1$ and $\lambda \in K$. Our examples include the fields $K = \mathbb{Q}$ and $K = \mathbb{Q}(\sqrt{D})$, where $D > 1$ is a square-free even integer; the corresponding rings of integers are $\mathbb{Z}_K = \mathbb{Z}$ and $\mathbb{Z}_K = \mathbb{Z}[\sqrt{D}]$, respectively.

Consider the hypergeometric series

$$\begin{aligned} H = H(a, b, c; \lambda) &= \frac{1}{\lambda^{2c+2}} \frac{\Gamma(a+\frac{1}{2})\Gamma(b+1)}{\Gamma(a+b+\frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} c+1, a+\frac{1}{2} \\ a+b+\frac{3}{2} \end{matrix} \middle| \frac{1}{\lambda^2}\right) \\ &= \sum_{l=0}^{\infty} R(l)\lambda^{-2(l+c+1)} = \sum_{l=-c}^{\infty} R(l)\lambda^{-2(l+c+1)}, \end{aligned} \tag{3.1}$$

where

$$R(l) = R(a, b, c; l) = \frac{\prod_{j=1}^c (l+j)}{c!} \cdot \frac{b!}{\prod_{j=a}^{a+b} (l+j+\frac{1}{2})}. \tag{3.2}$$

The partial fraction decomposition of the latter rational function gives us

$$R(l) = \sum_{j=a}^{a+b} \frac{A_j}{l+j+\frac{1}{2}} + P(l), \tag{3.3}$$

where

$$A_j = \left(R(l)(l+j+\frac{1}{2})\right)\Big|_{l=-j-1/2} \in 2^{-2c}\mathbb{Z} \tag{3.4}$$

and $2^{2c'} d_{2c'} P(l)$ is an integer-valued polynomial of degree at most $c' - 1$ with $c' = \max\{c - b, 0\}$ (cf. [6, Lemma 1]). Writing

$$P(l) = B_0 + \sum_{k=1}^{c'-1} B_k \frac{\prod_{j=0}^{k-1} (l + c - j)}{k!}, \quad 2^{2c'} d_{2c'} B_k \in \mathbb{Z} \quad (3.5)$$

(this corresponds to the expansion in a basis of integer-valued polynomials), we obtain

$$\begin{aligned} H &= \sum_{l=-c}^{\infty} \lambda^{-2(l+c+1)} \left(\sum_{j=a}^{a+b} \frac{A_j}{l+j+\frac{1}{2}} + \sum_{k=0}^{c'-1} B_k \frac{\prod_{j=0}^{k-1} (l+c-j)}{k!} \right) \\ &= \sum_{j=a}^{a+b} A_j \lambda^{-2(c-j)} \sum_{l=-c}^{\infty} \frac{\lambda^{-2(l+j+1)}}{l+j+\frac{1}{2}} \\ &\quad + \sum_{k=0}^{c'-1} B_k \lambda^{-2(k+1)} \sum_{l=-c}^{\infty} \frac{\prod_{j=0}^{k-1} (l+c-j)}{k!} \lambda^{-2(l+c-k)} \\ &= \sum_{j=a}^{a+b} A_j \lambda^{-2(c-j)} \sum_{m=j-c}^{\infty} \frac{\lambda^{-2(m+1)}}{m+\frac{1}{2}} + \sum_{k=0}^{c'-1} B_k \lambda^{-2(k+1)} \sum_{m=0}^{\infty} \frac{\prod_{j=0}^{k-1} (m-j)}{k!} \lambda^{-2(m-k)} \\ &= \sum_{j=a}^{a+b} A_j \lambda^{-2(c-j)} \left(\sum_{m=0}^{\infty} - \sum_{m=0}^{j-c-1} \right) \frac{\lambda^{-2(m+1)}}{m+\frac{1}{2}} \\ &\quad + \sum_{k=0}^{c'-1} B_k \lambda^{-2(k+1)} \frac{1}{k!} \frac{d^k}{dz^k} \sum_{m=0}^{\infty} z^m \Big|_{z=\lambda^{-2}} \end{aligned}$$

(the sum $-\sum_{m=0}^{j-c-1}$ should be interpreted as $\sum_{m=j-c}^{-1}$ if $j - c \leq -1$)

$$\begin{aligned} &= \sum_{j=a}^{a+b} A_j \lambda^{-2(c-j)} \sum_{m=0}^{\infty} \frac{\lambda^{-2(m+1)}}{m+\frac{1}{2}} - \sum_{j=a}^{a+b} A_j \lambda^{-2(c-j)} \sum_{m=0}^{j-c-1} \frac{\lambda^{-2(m+1)}}{m+\frac{1}{2}} \\ &\quad + \sum_{k=0}^{c'-1} B_k \lambda^{-2(k+1)} \cdot \frac{1}{(1-\lambda^{-2})^{k+1}} \\ &= \sum_{j=a}^{a+b} A_j \lambda^{-2c+2j-1} \cdot \log \frac{\lambda+1}{\lambda-1} - \sum_{j=a}^{a+b} A_j \lambda^{-2(c-j)} \sum_{m=0}^{j-c-1} \frac{\lambda^{-2(m+1)}}{m+\frac{1}{2}} \\ &\quad + \sum_{k=0}^{c'-1} \frac{B_k}{(\lambda^2-1)^{k+1}}. \end{aligned}$$

Denote by λ_0 and λ_1 the denominators of the algebraic numbers λ^{-1} and $(\lambda^2-1)^{-1}$,

respectively; both λ_0 and λ_1 are positive integers. Then

$$\begin{aligned}
 & 2^{2c} \lambda_0^{2c-2a+1} \cdot \sum_{j=a}^{a+b} A_j \lambda^{-2c+2j-1} \in \mathbb{Z}_K, \\
 & 2^{2c+1} \lambda_0^{2c-2a+2} d_{2 \max\{c-a, a+b-c\}} \cdot \sum_{j=a}^{a+b} A_j \lambda^{-2(c-j)} \sum_{m=0}^{j-c-1} \frac{\lambda^{-2(m+1)}}{m + \frac{1}{2}} \in \mathbb{Z}_K, \\
 & 2^{2c'} \lambda_1^{c'} d_{2c'} \cdot \sum_{k=0}^{c'-1} \frac{B_k}{(\lambda^2 - 1)^{k+1}} \in \mathbb{Z}_K,
 \end{aligned}$$

where we use (3.4) and (3.5). Combining these inclusions we finally obtain

$$2^{2c+1} \lambda_0^{2c-2a+2} \lambda_1^{c'} d_{2 \max\{c-a, c-b, a+b-c\}} \cdot H(a, b, c; \lambda) \in \mathbb{Z}_K \log \frac{\lambda + 1}{\lambda - 1} + \mathbb{Z}_K. \quad (3.6)$$

4. A certain integral

In fact, the choice of the ‘denominator’ of the linear form $H(a, b, c; \lambda)$ in (3.6) is not optimal. But it will suffice for our practical purposes, since we will consider just special cases of it when the linear form may be represented by a more familiar integral [2], [5] with already known sharp denominator.

A method of providing sharp denominators of the form (3.1) is given in the recent work [3] of E. Sal’nikova (who in turn attributes this idea to V. Salikhov), but it works only if all the three parameters a , b , and c are non-negative integers (recall that we do not pose the condition $a \geq 0$ in Section 3). Using the Euler–Pochhammer integral (2.1) in this case for the series in (3.1) and then performing the change of variable $x^2 = t$ we find that

$$\begin{aligned}
 H(a, b, c; \lambda) &= \frac{1}{\lambda^{2c+2}} \int_0^1 \frac{t^{a-1/2}(1-t)^b}{(1-t/\lambda^2)^{c+1}} dt = \int_0^1 \frac{t^{a-1/2}(1-t)^b}{(\lambda^2-t)^{c+1}} dt \quad (4.1) \\
 &= 2 \int_0^1 \frac{x^{2a}(1-x)^b(1+x)^b}{(\lambda-x)^{c+1}(\lambda+x)^{c+1}} dx.
 \end{aligned}$$

The integrand (admitting the symmetry $x \mapsto -x$) can be decomposed to derive the arithmetic properties of the integral H in a way different from our approach in Section 3. But, again, this method works when $a \geq 0$ while we will require the arithmetic in the case $a < 0$ as well.

An advantage of the series representation of $H(a, b, c; \lambda)$ consists in the fact that we can easily use hypergeometric transformations in order to sharpen additionally the arithmetic of the linear form. For example, applying the Kummer

transformation (2.3) we arrive at

$$\begin{aligned}
 H &= \frac{1}{\lambda^{2c+2}} \left(1 - \frac{1}{\lambda^2}\right)^{b-c} \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b + \frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} b + 1, a + b - c + \frac{1}{2} \\ a + b + \frac{3}{2} \end{matrix} \middle| \frac{1}{\lambda^2}\right) \\
 &= (\lambda^2 - 1)^{b-c} \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b - c + \frac{1}{2})\Gamma(c + 1)} H(a + b - c, c, b; \lambda)
 \end{aligned} \tag{4.2}$$

while using the formulae, for a positive integer m ,

$$\frac{\Gamma(m + \frac{1}{2})}{\Gamma(\frac{1}{2})} = (\frac{1}{2})_m = 2^{-2m} \frac{(2m)!}{m!}, \quad \frac{\Gamma(-m + \frac{1}{2})}{\Gamma(\frac{1}{2})} = (-1)^m 2^{2m} \frac{m!}{(2m)!}, \tag{4.3}$$

we can write the quotient of the gamma factors as a quotient of factorials. In the case $a \geq 0$ and $a + b - c \geq 0$ we obtain

$$H(a, b, c; \lambda) = (4(\lambda^2 - 1))^{b-c} \frac{(2a)!(a + b - c)! b!}{a!(2a + 2b - 2c)! c!} H(a + b - c, c, b; \lambda), \tag{4.4}$$

which is exactly the transformation used in [3] to derive nice irrationality measures for some logarithms.

5. A special case

We now switch to a particular case of the above construction, when $c = a$:

$$\begin{aligned}
 I &= I(a, b; \lambda) = H(a, b, a; \lambda) \\
 &= \frac{1}{\lambda^{2a+2}} \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b + \frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} a + 1, a + \frac{1}{2} \\ a + b + \frac{3}{2} \end{matrix} \middle| \frac{1}{\lambda^2}\right),
 \end{aligned} \tag{5.1}$$

where both a and b are non-negative integers. The transformation rule (4.4) applied to (5.1) yields

$$I(a, b; \lambda) = (4(\lambda^2 - 1))^{b-a} \frac{(2a)! b!^2}{a!^2 (2b)!} I(b, a; \lambda). \tag{5.2}$$

Remark 1. The condition posed on the parameters looks quite restrictive. But it happens that it becomes an actual condition in applications to irrationality measures for the numbers $\log(1 - 1/\mu)$ with $\mu > 1$ an integer (cf. [3]). In particular, the choice of the parameters $a = c = 4n$ and $b = 3n$, where n is an increasing integer parameter, yields the best known estimate for the irrationality measure of $\log 2$ due to E. Rukhadze [2].

Applying to the series in (5.1) the Euler transformation (2.2) we find that

$$\begin{aligned}
 I &= \frac{1}{\lambda^{2a+2}} \left(1 - \frac{1}{\lambda^2}\right)^{-(a+1/2)} \frac{\Gamma(a + \frac{1}{2})\Gamma(b+1)}{\Gamma(a + b + \frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} b + \frac{1}{2}, a + \frac{1}{2} \\ a + b + \frac{3}{2} \end{matrix} \middle| -\frac{1}{\lambda^2 - 1}\right) \\
 &= \frac{1}{\lambda(\lambda^2 - 1)^a \sqrt{\lambda^2 - 1}} \frac{\Gamma(a + \frac{1}{2})\Gamma(b+1)}{\Gamma(a + b + \frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} b + \frac{1}{2}, a + \frac{1}{2} \\ a + b + \frac{3}{2} \end{matrix} \middle| -\frac{1}{\lambda^2 - 1}\right).
 \end{aligned}
 \tag{5.3}$$

We now choose

$$z = \frac{1}{2} - \frac{\lambda}{2\sqrt{\lambda^2 - 1}} = -\frac{\lambda - \sqrt{\lambda^2 - 1}}{2\sqrt{\lambda^2 - 1}},
 \tag{5.4}$$

in order to satisfy the relation

$$4z(1 - z) = -\frac{1}{\lambda^2 - 1},$$

and apply the Gauss quadratic transformation (2.4) to (5.3):

$$I = \frac{1}{\lambda(\lambda^2 - 1)^a \sqrt{\lambda^2 - 1}} \frac{\Gamma(a + \frac{1}{2})\Gamma(b+1)}{\Gamma(a + b + \frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} 2b + 1, 2a + 1 \\ a + b + \frac{3}{2} \end{matrix} \middle| -\frac{\lambda - \sqrt{\lambda^2 - 1}}{2\sqrt{\lambda^2 - 1}}\right).
 \tag{5.5}$$

Interchanging the parameters $2b + 1$ and $2a + 1$ and applying the Euler transformation (2.2) we find that

$$\begin{aligned}
 I &= \frac{1}{\lambda(\lambda^2 - 1)^a \sqrt{\lambda^2 - 1}} \left(\frac{\lambda + \sqrt{\lambda^2 - 1}}{2\sqrt{\lambda^2 - 1}}\right)^{-(2b+1)} \frac{\Gamma(a + \frac{1}{2})\Gamma(b+1)}{\Gamma(a + b + \frac{3}{2})} \\
 &\quad \times {}_2F_1\left(\begin{matrix} b - a + \frac{1}{2}, 2b + 1 \\ a + b + \frac{3}{2} \end{matrix} \middle| \frac{\lambda - \sqrt{\lambda^2 - 1}}{\lambda + \sqrt{\lambda^2 - 1}}\right) \\
 &= \frac{2^{2b+1}(\lambda - \sqrt{\lambda^2 - 1})^{2b+1}}{\lambda(\lambda^2 - 1)^{a-b}} \frac{\Gamma(a + \frac{1}{2})\Gamma(b+1)}{\Gamma(a + b + \frac{3}{2})} \\
 &\quad \times {}_2F_1\left(\begin{matrix} b - a + \frac{1}{2}, 2b + 1 \\ a + b + \frac{3}{2} \end{matrix} \middle| \frac{1}{(\lambda + \sqrt{\lambda^2 - 1})^2}\right)
 \end{aligned}
 \tag{5.6}$$

and, again, interchanging the parameters $b - a + \frac{1}{2}$ and $2b + 1$ and recalling the definition (3.1) we obtain

$$I = \frac{2^{2b+1}(\lambda + \sqrt{\lambda^2 - 1})^{2b+1}}{\lambda(\lambda^2 - 1)^{a-b}} \frac{\Gamma(a + \frac{1}{2})\Gamma(b+1)}{\Gamma(b - a + \frac{1}{2})\Gamma(2a + 1)} \cdot H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}).
 \tag{5.7}$$

Since a and b enter the construction symmetrically (see also formula (5.9) below) we may assume, without loss of generality, that $a \geq b$ and use the formulae in (4.3) to write the latter transformation as follows:

$$I(a, b; \lambda) = \frac{2^{4b-4a+1}(\lambda + \sqrt{\lambda^2 - 1})^{2b+1}}{\lambda(\lambda^2 - 1)^{a-b}} \frac{(2a - 2b)! b!}{a! (a - b)!} \cdot H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}).
 \tag{5.8}$$

If we proceed in the same way with the series in (5.5) without interchanging the parameters $2b + 1$ and $2a + 1$, we get

$$\begin{aligned}
 I &= \frac{2^{2a+1}(\lambda - \sqrt{\lambda^2 - 1})^{2a+1}}{\lambda} \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b + \frac{3}{2})} \\
 &\quad \times {}_2F_1\left(\begin{matrix} a - b + \frac{1}{2}, 2a + 1 \\ a + b + \frac{3}{2} \end{matrix} \middle| \frac{1}{(\lambda + \sqrt{\lambda^2 - 1})^2}\right) \\
 &= \frac{2^{2a+1}(\lambda + \sqrt{\lambda^2 - 1})^{2a+1}}{\lambda} \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a - b + \frac{1}{2})\Gamma(2b + 1)} \cdot H(a - b, 2b, 2a; \lambda + \sqrt{\lambda^2 - 1}) \\
 &= \frac{2^{2a-2b+1}(\lambda + \sqrt{\lambda^2 - 1})^{2a+1}}{\lambda} \frac{(2a)!(a - b)!b!}{a!(2a - 2b)!(2b)!} \cdot H(a - b, 2b, 2a; \lambda + \sqrt{\lambda^2 - 1}),
 \end{aligned} \tag{5.9}$$

where we assume $a \geq b$ as above.

6. Relation to the old construction

With the notation (5.1) of Section 5 (in particular, choosing $a = c$ and using (5.3)), we take $\mu = \frac{1}{2}(\lambda + 1)$ with the motive

$$\frac{(1/\mu)^2}{4(1 - 1/\mu)} = \frac{1}{\lambda^2 - 1} \tag{6.1}$$

and apply the quadratic transformation (2.5):

$$\begin{aligned}
 I &= \frac{(1 - 1/\mu)^{b+1/2}}{\lambda(\lambda^2 - 1)^{a+1/2}} \cdot \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b + \frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} 2b + 1, a + b + 1 \\ 2a + 2b + 2 \end{matrix} \middle| \frac{1}{\mu}\right) \\
 &= \frac{(\mu - 1)^{b-a}}{2^{2a+1}\mu^{a+b+1}(2\mu - 1)} \cdot \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b + \frac{3}{2})} \cdot {}_2F_1\left(\begin{matrix} 2b + 1, a + b + 1 \\ 2a + 2b + 2 \end{matrix} \middle| \frac{1}{\mu}\right).
 \end{aligned} \tag{6.2}$$

Using the integral representation (2.1) we obtain

$$I = \frac{(\mu - 1)^{b-a}}{2^{2a+1}\mu^{a-b}(2\mu - 1)} \cdot \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b + \frac{3}{2})} \frac{\Gamma(2a + 2b + 2)}{\Gamma(a + b + 1)^2} \int_0^1 \frac{x^{a+b}(1 - x)^{a+b}}{(\mu - x)^{2b+1}} dx. \tag{6.3}$$

If we do the same for the series in (6.2) after interchanging the two parameters $2b + 1$ and $a + b + 1$ (which does not affect the hypergeometric series) we get

$$I = \frac{(\mu - 1)^{b-a}}{2^{2a+1}(2\mu - 1)} \cdot \frac{\Gamma(a + \frac{1}{2})\Gamma(b + 1)}{\Gamma(a + b + \frac{3}{2})} \frac{\Gamma(2a + 2b + 2)}{\Gamma(2a + 1)\Gamma(2b + 1)} \int_0^1 \frac{x^{2b}(1 - x)^{2a}}{(\mu - x)^{a+b+1}} dx. \tag{6.4}$$

It remains to use (4.3) to deduce

$$\begin{aligned}
 I(a, b; \lambda) &= \frac{(4\mu(\mu - 1))^{b-a}}{2\mu - 1} \cdot \frac{b!(2a)!}{a!(a + b)!} \cdot J(a + b, a + b, 2b; \mu) \\
 &= \frac{(4(\mu - 1))^{b-a}}{2\mu - 1} \cdot \frac{b!(a + b)!}{a!(2b)!} \cdot J(2b, 2a, a + b; \mu),
 \end{aligned} \tag{6.5}$$

where

$$J(A, B, C; \mu) = \int_0^1 \frac{x^A(1-x)^B}{(\mu-x)^C} \frac{dx}{\mu-x}. \quad (6.6)$$

7. Arithmetic of linear forms

From now on we assume that $\mu = \frac{1}{2}(\lambda + 1)$ is an integer greater than 1 (hence $\lambda = 2\mu - 1$ is also an integer greater than 1); the integer parameters a and b are chosen to satisfy $a \geq b > 0$.

First of all, the connection of the series considered in Section 5 with the integral (6.6) allows us to use the results of [5], since

$$J(a+b, a+b, 2b; \mu) = -\mu^{2a} \cdot \mathcal{I}\left(a+b, a+b, a-b; -\frac{1}{\mu}\right), \quad (7.1)$$

where

$$\mathcal{I}(h, j, l; z) = z^{h+j+1}(1+z)^{\max\{0, -l\}} \int_0^1 \frac{x^h(1-x)^j}{(1+xz)^{j-l}} \frac{dx}{1+xz} \quad (7.2)$$

is the integral studied in [5]. In particular, we derive that

$$d_{2a} \cdot J(a+b, a+b, 2b; \mu) \in \mathbb{Z} \log\left(1 - \frac{1}{\mu}\right) + \mathbb{Z} = \mathbb{Z} \log \frac{\lambda-1}{\lambda+1} + \mathbb{Z} \quad (7.3)$$

and, similarly,

$$d_{2a} \cdot 2^{a-b}(\lambda-1)^{b-a} J(2b, 2a, a+b; \mu) \in \mathbb{Z} \log \frac{\lambda-1}{\lambda+1} + \mathbb{Z}. \quad (7.4)$$

Now write the first formula in (6.5) in the form

$$\lambda(\lambda^2-1)^{a-b} I(a, b; \lambda) = \frac{b!(2a)!}{a!(a+b)!} \cdot J(a+b, a+b, 2b; \mu). \quad (7.5)$$

It follows from (3.6) that

$$d_{2a} \cdot 2^{2a+1} \lambda^2 (\lambda^2-1)^{a-b} I(a, b; \lambda) \in \mathbb{Z} \log \frac{\lambda-1}{\lambda+1} + \mathbb{Z}. \quad (7.6)$$

The exponent of 2 in the quotient of factorials in (7.5) is at most $O(\log a)$.¹ Therefore, using the equality in (7.5) and comparing the inclusions (7.6) and (7.3) we conclude that

$$d_{2a} \cdot 2^{O(\log a)} \lambda^2 (\lambda^2-1)^{a-b} I(a, b; \lambda) \in \mathbb{Z} \log \frac{\lambda-1}{\lambda+1} + \mathbb{Z}. \quad (7.7)$$

¹By $O(\log a)$ we mean an *integer* bounded by $C \log a$ for a certain explicit constant $C > 0$ depending only on a/b .

In a similar way, applying the inclusion (3.6) together with the relations (5.2) and (7.5) yields

$$d_{2a} \cdot 2^{2(b-a)+O(\log a)} \lambda^2 I(b, a; \lambda) \in \mathbb{Z} \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Z}. \tag{7.8}$$

Furthermore, write the transformations (5.8) and (7.5) as follows:

$$\begin{aligned} & 2^{4(b-a)+1} (\lambda + \sqrt{\lambda^2 - 1})^{2b+1} \cdot H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}) \tag{7.9} \\ &= \lambda (\lambda^2 - 1)^{a-b} \frac{a! (a - b)!}{(2a - 2b)! b!} \cdot I(a, b; \lambda) \\ &= \frac{(a - b)! (2a)!}{(a + b)! (2a - 2b)!} \cdot J(a + b, a + b, 2b; \mu). \end{aligned}$$

From (3.6) we get

$$d_{2(a+b)} \cdot 2^{4b+1} H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}) \in \mathbb{Z}_K \log \frac{\lambda - 1 + \sqrt{\lambda^2 - 1}}{\lambda + 1 + \sqrt{\lambda^2 - 1}} + \mathbb{Z}_K, \tag{7.10}$$

where $K = \mathbb{Q}(\sqrt{\lambda^2 - 1})$. Noting that

$$\log \frac{\lambda - 1 + \sqrt{\lambda^2 - 1}}{\lambda + 1 + \sqrt{\lambda^2 - 1}} = \frac{1}{2} \log \frac{\lambda - 1}{\lambda + 1}$$

we derive from (7.10) that

$$d_{2(a+b)} \cdot 2^{4b+2} (\lambda + \sqrt{\lambda^2 - 1})^{2b+1} \cdot H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}) \in \mathbb{Z}_K \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Z}_K. \tag{7.11}$$

In fact, according to (7.9), the expression in (7.11) lies in

$$\mathbb{Q} \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Q}. \tag{7.12}$$

Hence we conclude that

$$d_{2(a+b)} \cdot 2^{4b+2} (\lambda + \sqrt{\lambda^2 - 1})^{2b+1} \cdot H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}) \in \mathbb{Z} \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Z}. \tag{7.13}$$

For the latter expression in (7.9) the primes $p > 2a$ do not occur in the coefficients of the linear form (viewed as an element of (7.12)) owing to (7.3). In addition, we may compare the 2-adic order of the expressions in (7.9). This finally implies a sharpened version of the inclusion (7.13), namely,

$$\begin{aligned} & d_{2a} \cdot 2^{4(b-a)+1+O(\log a)} (\lambda + \sqrt{\lambda^2 - 1})^{2b+1} \tag{7.14} \\ & \times H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}) \in \mathbb{Z} \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Z}. \end{aligned}$$

In the same vein, using (5.9) and (7.9) we obtain

$$d_{2a} \cdot 2^{4(a-b)+1+O(\log a)} (\lambda^2 - 1)^{a-b} (\lambda + \sqrt{\lambda^2 - 1})^{2a+1} \tag{7.15}$$

$$\times H(a - b, 2b, 2a; \lambda + \sqrt{\lambda^2 - 1}) \in \mathbb{Z} \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Z}.$$

We now normalize our objects:

$$F_0(a, b) = d_{2a} \cdot 2^{O(\log a)} \lambda^2 (\lambda^2 - 1)^{a-b} \cdot I(a, b; \lambda),$$

$$F_1(a, b) = d_{2a} \cdot 2^{2(b-a)+O(\log a)} \lambda^2 \cdot I(b, a; \lambda),$$

$$F_2(a, b) = d_{2a} \cdot 2^{O(\log a)} \lambda \cdot J(a + b, a + b, 2b; \mu),$$

$$F_3(a, b) = d_{2a} \cdot 2^{a-b+O(\log a)} \lambda (\lambda - 1)^{b-a} \cdot J(2b, 2a, a + b; \mu),$$

$$F_4(a, b) = d_{2a} \cdot 2^{4(b-a)+1+O(\log a)} \lambda (\lambda + \sqrt{\lambda^2 - 1})^{2b+1}$$

$$\times H(b - a, 2a, 2b; \lambda + \sqrt{\lambda^2 - 1}),$$

$$F_5(a, b) = d_{2a} \cdot 2^{4(a-b)+1+O(\log a)} (\lambda^2 - 1)^{a-b} \lambda (\lambda + \sqrt{\lambda^2 - 1})^{2a+1}$$

$$\times H(a - b, 2b, 2a; \lambda + \sqrt{\lambda^2 - 1}),$$

where we choose the same (maximal) integer in $O(\log a)$. From (7.7), (7.8), (7.3), (7.4), (7.14), and (7.15) it follows that

$$F_j(a, b) \in \mathbb{Z} \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Z}, \quad j = 0, 1, \dots, 5. \tag{7.16}$$

Remark 2. We can add two more objects to the list, since from the final remark in [5] we have two more related integrals:

$$J(a + b, a + b, 2a; \mu) = (\mu(\mu - 1))^{b-a} \cdot J(a + b, a + b, 2b; \mu), \tag{7.17}$$

$$J(2a, 2b, a + b; \mu) = \mu^{a-b} (\mu - 1)^{b-a} \cdot J(2b, 2a, a + b; \mu). \tag{7.18}$$

But these transformations do not provide new quotients of factorials.

Moreover, from (5.2), (6.5), (5.8), and (5.9) we obtain

$$F_0(a, b) = \frac{(2a)! b!^2}{a!^2 (2b)!} \cdot F_1(a, b) \tag{7.19}$$

$$= \frac{b! (2a)!}{a! (a + b)!} \cdot F_2(a, b)$$

$$= \frac{b! (a + b)!}{a! (2b)!} \cdot F_3(a, b)$$

$$= \frac{(2a - 2b)! b!}{a! (a - b)!} \cdot F_4(a, b)$$

$$= \frac{(2a)! (a - b)! b!}{a! (2a - 2b)! (2b)!} \cdot F_5(a, b).$$

These transformations combined with the inclusions in (7.16) imply that

$$\Phi^{-1} \cdot F_0(a, b) \in \mathbb{Z} \log \frac{\lambda - 1}{\lambda + 1} + \mathbb{Z}, \tag{7.20}$$

where

$$\begin{aligned} \Phi &= \Phi(a, b) = \prod_{p > \sqrt{2a}} p^{\nu_p}, \\ \nu_p &= \max \left\{ 0, \text{ord}_p \frac{(2a)! b!^2}{a!^2 (2b)!}, \text{ord}_p \frac{b! (2a)!}{a! (a+b)!}, \text{ord}_p \frac{b! (a+b)!}{a! (2b)!}, \right. \\ &\quad \left. \text{ord}_p \frac{(2a-2b)! b!}{a! (a-b)!}, \text{ord}_p \frac{(2a)! (a-b)! b!}{a! (2a-2b)! (2b)!} \right\}. \end{aligned} \tag{7.21}$$

An easy analysis shows that, for a prime $p > \sqrt{2a}$, the maximum in (7.21) in fact equals

$$\begin{aligned} &\max \left\{ 0, \text{ord}_p \frac{(2a)! b!^2}{a!^2 (2b)!} \right\} \\ &= \max \left\{ 0, \text{ord}_p \frac{(2a)! b!^2}{a!^2 (2b)!}, \text{ord}_p \frac{b! (2a)!}{a! (a+b)!}, \text{ord}_p \frac{b! (a+b)!}{a! (2b)!} \right\} \\ &= \max \left\{ 0, \text{ord}_p \frac{(2a)! b!^2}{a!^2 (2b)!}, \text{ord}_p \frac{(2a-2b)! b!}{a! (a-b)!}, \text{ord}_p \frac{(2a)! (a-b)! b!}{a! (2a-2b)! (2b)!} \right\}. \end{aligned}$$

This happens because of the equalities

$$\frac{(2a)! b!^2}{a!^2 (2b)!} = \frac{b! (2a)!}{a! (a+b)!} \cdot \frac{b! (a+b)!}{a! (2b)!} = \frac{(2a-2b)! b!}{a! (a-b)!} \cdot \frac{(2a)! (a-b)! b!}{a! (2a-2b)! (2b)!} \tag{7.22}$$

and the fact that the ‘ p -adic distance’ between the pairs

$$\frac{b! (2a)!}{a! (a+b)!}, \frac{b! (a+b)!}{a! (2b)!} \quad \text{and} \quad \frac{(2a-2b)! b!}{a! (a-b)!}, \frac{(2a)! (a-b)! b!}{a! (2a-2b)! (2b)!}$$

is at most one:

$$\begin{aligned} &\left| \left(\left\lfloor \frac{b}{p} \right\rfloor + \left\lfloor \frac{2a}{p} \right\rfloor - \left\lfloor \frac{a}{p} \right\rfloor - \left\lfloor \frac{a+b}{p} \right\rfloor \right) - \left(\left\lfloor \frac{b}{p} \right\rfloor + \left\lfloor \frac{a+b}{p} \right\rfloor - \left\lfloor \frac{a}{p} \right\rfloor - \left\lfloor \frac{2b}{p} \right\rfloor \right) \right| \leq 1, \\ &\left| \left(\left\lfloor \frac{2a-2b}{p} \right\rfloor + \left\lfloor \frac{b}{p} \right\rfloor - \left\lfloor \frac{a}{p} \right\rfloor - \left\lfloor \frac{a-b}{p} \right\rfloor \right) \right. \\ &\quad \left. - \left(\left\lfloor \frac{2a}{p} \right\rfloor + \left\lfloor \frac{a-b}{p} \right\rfloor + \left\lfloor \frac{b}{p} \right\rfloor - \left\lfloor \frac{a}{p} \right\rfloor - \left\lfloor \frac{2a-2b}{p} \right\rfloor - \left\lfloor \frac{2b}{p} \right\rfloor \right) \right| \leq 1. \end{aligned}$$

This shows why all the required arithmetic information is extracted just from the first transformation in (7.19). It seems quite mysterious to us that the rich transformation structure for linear forms does not provide a better arithmetic.

Question 1. As already mentioned in Remark 1, the special choice of the parameters we deal with is quite natural in several applications. A point which seems rather unnatural to us is the different origin of the objects we use, and a lack of a clear algebraic structure of the quotients of factorials involved in transformations (7.19) (where we may also add two more objects, see Remark 2). It would be nice to ‘unify’ the different approximations (for instance, to have a sole family of integrals or series) and to settle the quotients of factorials into a more ‘algebraic’ context (as is done for instance in [5], but also in the case of dilogarithm values, of $\zeta(2)$ and $\zeta(3)$). One might also hope to get from such a unifying approach the ‘correct’ arithmetic of the approximations (as we noted, the inclusions (3.6) can significantly be improved).

Question 2. We are surprised to see that under a specific choice of the parameters in (3.1) the corresponding linear approximations may have rational coefficients even if λ is a quadratic irrationality (see (7.14) and (7.15)). What is a general setting for this curious phenomenon?

Acknowledgments. This work was done during the second author’s visit in the Mathematics Department of the University of Pisa in November 2007. He kindly thanks the staff of the Department for its hospitality.

References

- [1] W. N. BAILEY, *Generalized hypergeometric series*, Cambridge Math. Tracts **32** Cambridge Univ. Press, Cambridge (1935); 2nd reprinted edition, Stechert-Hafner, New York–London (1964).
- [2] E. A. RUKHADZE, A lower bound for the approximation of $\ln 2$ by rational numbers, *Vestnik Moskov. Univ. Ser. I Mat. Mekh. [Moscow Univ. Math. Bull.]* (1987), no. 6, 25–29.
- [3] E. S. SAL’NIKOVA, Diophantine approximations of $\log 2$ and other logarithms, *Mat. Zametki [Math. Notes]* **83**:3 (2008), 428–438.
- [4] L. J. SLATER, *Generalized hypergeometric functions*, Cambridge Univ. Press, Cambridge (1966).
- [5] C. VIOLA, Hypergeometric functions and irrationality measures, *Analytic number theory* (Kyoto, 1996), London Math. Soc. Lecture Note Ser. **247**, Cambridge Univ. Press, Cambridge (1997), 353–360.
- [6] W. ZUDILIN, Approximations to $-$, di- and tri- logarithms, *J. Comput. Appl. Math.* **202**:2 (2007), 450–459.

Addresses: Carlo Viola: Dipartimento di Matematica, Università di Pisa, Largo B. Pontecorvo 5, 56127 Pisa, Italy; Wadim Zudilin: Max-Planck-Institut für Mathematik, Vivatsgasse 7, D-53111 Bonn, Germany

E-mail: viola@dm.unipi.it, wzudilin@mpim-bonn.mpg.de

Received: 11 December 2007; **revised:** 15 October 2008